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Q:01(A) Define the following sets with examples 10

(1) Union of two sets (i) Intersection of two sets (iii} Empty set (iv) Singleton set
(v) Power set.

Q:0i(B) - 1 2 2 10
IFA=|2 1 2| then Prove that A>— 4A — 5= g,
2 21
' OR
Q:0I(A) If A={24)and B= {2,4,6} then find (i) A x B (i A x A (iii)Bx B (iviA-B 10
vB-A
Q:01(B} 1. Solve the following equations using cramer’s rule. ‘ 10
| 2x+Sy =16 and 3x +y =11,
1 1 =3
2. Find the value |—1 = —1 _3
=1 1 -9
Q:02(A) Evaluate, - 10
~ {im. xz+i oy lim -4 lim. x3 4 o2?_ 8x
’(l)x-—>3 x242x +5 (H)x—)Z X2 (m)x-—>0 5x3 — 4x

Q:02(B) 1. Obtain the cquation of a line having slope m and making intercept ‘C’ on y- axis. 10

2. Find the equation of the line having slope -32~ and passing through the point (3, -2).

OR
QO2A) Find 2 of the following, | 10
M) y=x"+2x*~52+ 7% ~3 2 y= gt—:ﬁ—i—:
Q:02(B) | What is an aggregate amount of 2, 4000 at,. 12 % rate of compound interest for 3 10

years if the interest is compounded (i) annually (ii) Semi Annually.

Q:03(A) Solve the following LPP using graphical method. | 10
. Zmaximum. =70x + ]OOY
' . Subjectto : 3x + 4y <2100, 4x + 3y <£2100, X=450,y<450,x,y =0

(i) ‘ DOT Oj




Q:03(B) Solve the following assignment probiem for minimum cost,

Q:03(A)

Q:03(B)
Q:04(A)
Q:04(B)

Q:04(A)

Q:04(B)
Q:05(A)
Q:05(B)
Q:05()

Q:05(B)

1 Il 1I v
41 72 39 52
2220 49 65
27 39 60 51

O 0 w »

45 50 48 s
- ]

OR

Define the following terms,

() Compound Interest (it} Annuity (iii) Sinking Fund
‘What is mean by Linear Programming? State assumptions and uses of L P,
Find maximum and minimum values of the following funciion,

) = 2% — 15x% + 36x + 10,
Define the following Matrices with example,

(D) Column Matrix (i) Equal Matrices (iii) Square Matrix (iv) Unit Matrix

(v) Transpose of matrix.
OR

Solve the following equations using inverse matrix method.
a=b+2c =6, 2a+b+c_3 =0.and 10a+b—¢c=7

Write the rules of determinant.

Define differentiation and State its rules .

Find the equation of a line passing through the points A(x, y;) and B(xz, y2).

OR |
Integral : 1. f(3x + 4x5 — 5x%) dx. 2. JC 4 2)(x + 3) (25 5) dx.
lim x*+x—g lim x*-2¢ lim x-o9

Evaluate:l.xﬁzm 2'.?6-—"‘27:2_ 3.x_}9m
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10
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Q:01(%) 31t apllef) cupvay waril, 10
(i) 6L 2uglieil Aon (if) G el B (i) vl (iv) BAsisl ol (v) aid ol

Q:01(el) 22y N : 10
' SLA=12 1 2| dindl i 305 A2—4A —51=0.
2 2 1

vy ,
Q0L ol A={2,4} 24 B={2,4,6} dludi (i) A x B (DAxA(i)BxB (ivyA-B 10
(V)B—A i,

Q01 1. wellsreid Suadl A4 Gl 2x +5y =16 A 3x+y =11, ' 10
. 1 1 -3
2. [Eud «isl ~1 -1 =3
-1 1 -9l
Q:02()  H3Atl-Al Fua ikl | ' 10
. lim x4 1 oy lim x%—4 le x% + 2x% — 8x
(l)x-eg x2+2x 45 ()x—>2 x - (11) 5x3 — 4x
QO2ED 1. m aincuofll WA y-uitt W € Vel v vis studl o] wellse Aadl, 10
2. % a1 ol vl (3, -2) Biguinll war adl azvi wellse Aad,
2L
Qo2 Az 2 i, 10
¥ 6x 45

D y=x'+2-52+7x-3 @) y=

xZ—dx —5
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Q:03(sl)

Q:03(3)
Q£03(ot)

Q:04(1)
Q:04(w)

Q:04(>})

Q:04(st)
Q:05(21)
Q:05(ct)

Q:05(%1)

Qs

Al 514 AdAQlAL UL 2 YAt Goe Hodl

1 II III vV

41 72 39 52
22 29 49 65

27 39 60 51

o O B = B

45 50 48 52

Bl
At yeldl evu 2.
(i) usgfed ey (i) w2l (i) [Raedlol 8.
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-
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